Simplitying expressions

Algebra  Simplifying expressions .

@ IT!

When three algebraic
expressions are
For an unknown number x, the expression 2x + 3 means ‘2 lots of x with multiplied together,
3 added’ or ‘add 3 to 2 lots of x’. ‘2 lots of x’ is the same as 2 X x’ or ‘x + x’ the answer is 127°.
and is written as 2x. Write down the
possible multiplied
Expressions that involve X and -+ should be simplified where possible. expressions.

Multiplying expressions

To multiply together two or more algebraic
expressions, first multiply any number parts
and then multiply the letters.

J o

3ais used for 3 X a
abis used fora X b

a?is used fora X a
a’isusedfora X a X a
a’bis usedfora x a X b

%is used fora = b
\_ J

- /

Algebraic
notation

Dividing expressions

WORKIT!
Simplify:

a axa

Use indices to show a letter multiplied
by itself. a? is read as ‘a squared’.

a* =
b bxbxb
bz
C 2XjXkx6
12, jk
d 2d x 4d
8d?

Dividing algebraic expressions is similar to cancelling fractions. If

necessary, write the division as a fraction first. Cancel any number

parts where possible and then cancel any letters where possible.

Write the division as a fraction.

Cancel the number parts by dividing the top and bottom by 2.

1 Simplify:
apxXpxp d 5x X 4x
b 4xbxcx7 e 2g X (—4g)
c 4ax3b f 2p x3gxr

This is the same as

Use indices to show the same letter
multiplied together three times. 5 is
read as ‘b cubed’.

Multiply the numbers together:
2Xx6=12

Multiply the letters together by writing
them next to each other:

Jjxk=jk

Write the number in front of the letters.

WORKIT!
Simplify:
a 6a-~+2 b 12xy = 4y
$a _ 42X,
= 3a Y _
A Hy 3x

12XxxXy

4Xy

Cancel the number parts by dividing the top and bottom by 4.
) appears on the top and bottom, so cancel.

2 Simplify:
a 10x + 2

d 8mn + 2m
12xy
3y

f 9abc + bc



